KillTest

Higher Quality, Better Service!

http://www.killtest.com

We offer free update service for one year.



http://www.killtest.com

The safer , easier way to help you pass any IT exams.

Exam - 1V0-603

Title . Cloud Management and
Automation Fundamentals
Exam

Version : DEMO




The safer , easier way to help you pass any IT exams.

1.A consultant has been hired to architect a hybrid cloud solution for a client. The consultant decides to
build two clouds: one for development and one for production. Which product can move workloads from
the development cloud to the cloud?

A.vFabiic Suite

B.vCioud Connector

C.vCenter Server

D.vRealize Operations

Answer: B

2.An organization is evaluating to a hybrid cloud infrastructure. They already manage an onsite vsphere
environment and want to better understand the benefits of migrating data to vcloud air.

What would be a compelling reason for the client to migrate to a hybrid cloud solution?

A.They will be able to use storage clusters and Storage Distributed Resource Scheduling.

B.They will be able to more easily optimize the provisioning and performance of their virtualized
workloads.

C.They will be able to place their mission-critical virtual machines under Fault Tolerance rotection.
D.vRealize Automation will allow them to leverage vSphere Distributed Switches.

Answer: C

3.An administrator for a regional service provider has a predominately mobile client base.

Which statement represents an availability challenge that this administrator might face?

A.The clientswant to work on business problems instead of worrying about always been"hands on" with
their virtual workloads.

B.The clients need connectivity and flexibility without being required to host their own internal VPN
services.

C.The clientshave workloads in your data center and want to migrate to hosting providers in different
geographical areas.

D.Theclients need the ability to quickly deploy preconfigured workloads on demand.

Answer: D

4.An administrator is examining a data center to validate that it is operating as efficiently as
possible.Which option represents an Efficiency challenge the administrator might face?

A.Needing to easily roll back changes to workloads during testing and development.

B.Wanting to provide multi-tenant access to cloud resources without compromising security.

C.Needing semi-isolated and autonomous environments for the application development teams.
D.Wanting to align IT costs with corporate models by classifying IT as an operating expense.

Answer: C

5.A manager wants to know why traditional usage metering tools are less effective in a private cloud
environment thanthey are in physical environments.Whatstatement provides the best response?
A.Traditional monitoring tools won't work in a cloud environment.

B.Traditional metering tools require agents to be installed, which don’t work in virtual machines.
C.Resource usage is based on the overall demand of all virtual machines instead of per server.

D.This is not true, traditional usage metering tools are still the best choice.
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Answer: B
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